1561_136906

L™ NN .-ﬁn
7
) 4

Habitat
et Jardin

2023-2024



1561_136906

A 16*15.5CM|  x2 1/2
B &~ |16*155CM| X2 1/2
C 6> |19.8*155CM| X2 1/2
D = 15*7CM x1 1/2
F 26*20CM X 4 1/2
G . | 23*115CM| X2 1/2
J Al [39-62*37TMM| X2 1/2
K ) 4*6CM X 2 1/2
L & 3.7*3.3CM|  x2 1/2
M1 — 6*40MM X 4 1/2
M2 — 6*50MM X 2 1/2
M3 e 4x16MM x16 1/2
N3 - M4 x1 1/2
0 — 2*10CM x10 1/2
P M6 X1 1/2
Q —  |2.5*12.8CM| 14 1/2
R —— | 4"200MM | X150 1/2
S 1*26 M x1 2/2




1 = = 187.6CM x5 | 1/2
2 = = . | 169.5/152.5CM | x1 | 1/2
3 = =1 169.5/1525CM | x1 | 1/2
4 = = 149CM x4 | 1/2
5 = = 140.5CM x2 | 1/2
6 = 2 104.5CM x2 | 1/2
7 = = 102.3CM x4 | 1/2
8 . 2 56.5CM x1 | 1/2
9 . . 64.5CM x1 | 1/2

1 O q D 58.5CM X1 1/2
11 — 63.5CM x1 | 1/2
12 > 2*3.35CM x1 | 1/2

FR : SAV/INFORMATIO/VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE: REPARATUR-SERVICE UND ERSATZTEILE/INFORMATIONEN /VIDEO/VIDEO/KONTAKT

ES: SERVICIO POST-VENTA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVICOP S-VENDA/INFORMACOES/VIDEO/EONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT _

NE : AFTER SALES SERVICE/NFORMATIE/VIDEO/CONTACT

HE:

RN WD MoMIn/neTy /A TRiyAnpen vo

2023-2024




©



Ax2 —a X2 C x2
D x1 = X2 = =5 x2
6 x2 x1 =«




3||F x4

PG,

4111 x2




1 x1

6(M1 x4 = M2 x2 —¢M3 x16 —
K x2 2 U x2 ¢




71Q x150




3
o
-




1

=

N




